Pizza ad

Listen to the recording and write down short answers [1 to 5 words or numbers] to the
guestions below.
There is an example (0).

There are three people in the advert. Who is angry? | the woman

Who ordered this product?

How many of them were ordered?

This advert is for what kind of product?
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The woman is angry with the man: What has he done?




Key:

The woman is angry with the man: what has he done?

0 |There are three people in the advert. Who is angry? | the woman
1 |This advert is for what kind of product? pizza

2 | Who ordered this product? the woman
3 |How many of them were ordered? one

4

burnt the dinner




